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 BECC-105  

B.A. (HONOURS) ECONOMICS  

(BAECH) 

Term-End Examination 

June, 2022 

BECC-105 : INTERMEDIATE MICROECONOMICS – I  

Time : 3 hours Maximum Marks : 100 

Note :  Attempt questions from each section as per 

instructions given.   

SECTION A 

Answer any two questions from this section. Each 

question carries 20 marks.  220=40 

1. (a) What do you mean by the term consumer’s 

equilibrium ? State the necessary and 

sufficient conditions to be satisfied for a 

consumer to be in equilibrium. 8 

(b) Given the utility function of a consumer  

 U(X, Y) = X3/4 Y1/4 

 where X and Y are two commodities, price 

of X = < 6 per unit and price of Y = < 3 per 

unit and income of the individual is equal to 

< 120. Using Lagrangian method, find out 

the optimal quantities of X and Y.  12 
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2. (a) What is the distinction between short-run 

production function and long-run 

production function ? 10 

(b) Given the following production function 

 q = 0·4 K + 0·7 L 

 Examine whether law of diminishing 

marginal productivity will apply in this 

production function. If not, give reasons. 10 

3. (a) Discuss the properties of a cost function. 8 

(b) Given a total cost function 

 C = 500 Q + WrQ2 

 Find out the average and marginal cost 

functions. 12 

4. (a) Identify the factors that drive the profit to 

zero in a perfectly competitive market in 

the long-run. 8 

(b) Given the firm’s demand function : 

 P = 300 – 2q 

 where P stands for price and q for quantity 

and total cost is given by 

 TC = 200 + 8q. 

 Derive the profit function of the firm as a 

function of output (q). 12 
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SECTION B 

Answer any four questions from this section. Each 

question carries 12 marks. 412=48 

5. What is consumer’s surplus ? Given the market 

demand curve of a commodity as Q = 20 – P2, 

what will be the change in the consumer’s 

surplus when market price of that commodity 

rises from < 2 to < 3 ? 6+6=12 

6. Distinguish between Risk Aversion and Risk 

Preference. How does insurance help in 

reducing risk ? 4+8=12 

7. What is Leontief Production Function ? 

Illustrate.  Discuss its properties. 4+8=12 

8. What is the difference between Short-run cost 

function and Long-run cost fucntion ? Given the 

following total cost function, find out the AC, 

MC, AVC and AFC function : 6+6=12 

C = Q3 – 4Q2 + 10Q + 10 

9. Explain the shape of long-run supply curve of a 

constant cost and increasing cost industry under 

perfectly competitive market structure. 12 
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10. ‘‘A non-competitive equilibrium is inefficient.’’ 

Explain this statement with the help of an 

appropriate diagram. 12 

11. Given the following utility function, where the 

law of diminishing marginal utility holds for 

each good consumed. How much of A will be 

consumed if it is a free good ?  12 

U = 96A + 35B – 0·8A2 – 0·3B2 

12. Suppose the demand curve for a product is 

given by 

 Qd = 300 – 2P + 4M  

 where M is average income, measured in 

thousands of rupees. The supply curve is given 

as 

 Qs = 3P – 50 

 If M is 25, find the market clearing price and 

the quantity for the product. 12 
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SECTION C 

Attempt all the questions from this section. Each 

question carries 6 marks. 26=12 

13. Explain any two of the following :  23=6 

(a) Marginal Rate of Technical Substitution 

(MRTS)  

(b) Non-Discrete Goods 

(c) Probability Distribution  

(d) Reservation Price 

14. Distinguish between any two of the following :  23=6 

(a) Strict Preference and Weak Preference  

(b) Compensating and Equivalent Variation 

(c) Homogeneous and Homothetic Functions 

(d) Marginal Revenue Function and Marginal 

Cost Function 
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~r.B©.gr.gr.-105 : _Ü`dVu ì`pîQ> AW©emñÌ – I 

g_` : 3 KÊQ>o  A{YH$V_ A§H$ : 100 

ZmoQ> : {XE JE {ZX}emZwgma àË`oH$ IÊS> go àíZm| Ho$ CÎma Xr{OE & 

IÊS> H$  

Bg IÊS> go {H$Ýht Xmo àíZm| Ho$ CÎma Xr{OE & àË òH$ àíZ Ho$  
20 A§H$ h¢ & 220=40 

1. (H$) Cn^moº$m Ho$ g§VwbZ go Amn Š`m g_PVo h¢ ? {H$gr 
Cn^moº$m Ho$ g§VwbZ H$s pñW{V àmá H$aZo Ho$ {bE 
Amdí`H$ Ed§ n`m©á eVmªo H$mo ~VmBE &  8 

(I) {H$gr Cn^moº$m H$m Cn`mo{JVm \$bZ Bg àH$ma {X`m 
J`m h¡ :  
 U(X, Y) = X3/4 Y1/4 

 Ohm± X VWm Y Xmo dñVwE± h¢, X H$s H$s_V = < 6 à{V 
BH$mB© VWm Y H$s H$s_V = < 3 à{V BH$mB© h¡ VWm 
ì`{º$ H$s Am` < 120 Ho$ ~am~a h¡ & Cn`w©º$ go 
boJ«mpÝO`Z {d{Y H$m à`moJ H$a, X VWm Y dñVw H$s 
AZwHy$bV_ _mÌmAm| H$mo kmV H$s{OE & 12 
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2. (H$) AënH$mbrZ CËnmXZ \$bZ VWm XrK©H$mbrZ CËnmXZ 
\$bZ Ho$ ~rM Š`m A§Va h¡ ? 10 

(I) àXÎm {ZåZ{b{IV CËnmXZ \$bZ 

 q = 0·4 K + 0·7 L 

 narjU H$s{OE {H$ Š`m Bg CËnmXZ \$bZ _| KQ>Vr 
hþB© (õmg_mZ) gr_mÝV CËnmXH$Vm H$m {Z`_ bmJy hmoVm 
h¡ & `{X Zht, Vmo H$maU Xr{OE & 10 

3. (H$) bmJV \$bZ H$s {deofVmAm| na MMm© H$s{OE & 8 

(I) Hw$b bmJV \$bZ Bg àH$ma {X`m J`m h¡ : 

 C = 500 Q + WrQ2 

 Am¡gV Ed§ gr_mÝV bmJV \$bZ kmV H$s{OE & 12 

4. (H$) CZ H$maH$m| H$s nhMmZ H$s{OE Omo XrK©H$mb _| nyU© 
à{V`moJr ~mµOma _| bm^ H$mo eyÝ` H$s Amoa bo OmVo  
h¢ &  8 

(I) {H$gr \$_© H$m _m±J \$bZ Bg àH$ma {X`m J`m h¡ : 

 P = 300 – 2q 

 Ohm± P dñVw H$s H$s_V Ed§ q dñVw H$s _mÌm H$mo ì`º$ 
H$aVr h¡ Am¡a Hw$b bmJV H$m \$bZ Bg àH$ma {X`m 
J`m h¡ : 
 TC = 200 + 8q 

 Cn`w©º$ go CËnmXZ Ho$ \$bZ (q) Ho$ ê$n _| \$_© Ho$ 
bm^ \$bZ H$mo kmV H$s{OE & 12 
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IÊS> I 
Bg IÊS> go {H$Ýht Mma àíZm| Ho$ CÎma Xr{OE & àË òH$ àíZ Ho$  
12 A§H$ h¢ & 412=48 

5. Cn^moº$m H$s ~MV Š`m h¡ ? {H$gr dñVw H$m ~mµOma _m±J 

dH«$ Bg àH$ma {X`m J`m h¡ : Q = 20 – P2  

Bg pñW{V _|, O~ ~mµOma _| dñVw H$s H$s_V < 2 à{V 

BH$mB© go ~‹T>H$a < 3 à{V BH$mB© hmo OmVr h¡, Vmo Cn^moº$m 

H$s ~MV _| Š`m n[adV©Z AmEJm ? 6+6=12 

6. Omo{I_ ~Mmd (Risk Aversion) VWm Omo{I_ àmW{_H$Vm 

_| A§Va ñnï> H$s{OE & Omo{I_ H$mo H$_ H$aZo _| ~r_m {H$g 

àH$ma _XX H$aVm h¡ ? 4+8=12 

7. {b`moZQ>r\$ CËnmXZ \$bZ Š`m h¡ ? CXmhaU g{hV ~VmBE & 

BgH$s {deofVmAm| na MMm© H$s{OE & 4+8=12 

8. AënH$mbrZ bmJV \$bZ VWm XrK©H$mbrZ bmJV \$bZ _| 

Š`m AÝVa h¡ ? {XE JE {ZåZ{b{IV Hw$b bmJV \$bZ go 

Am¡gV bmJV, gr_mÝV bmJV, Am¡gV n[adVu bmJV VWm 

Am¡gV pñWa bmJV kmV H$s{OE : 6+6=12 

C = Q3 – 4Q2 + 10Q + 10 

9. nyU© à{V`moJr ~mµOma g§aMZm Ho$ AÝVJ©V pñWa bmJV VWm 

~‹T>Vr hþB© bmJV H$m gm_Zm H$aZo dmbo CÚmoJ Ho$ 

XrK©H$mbrZ Amny{V© dH«$ Ho$ AmH$ma H$s ì`m»`m H$s{OE & 12 
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10. ‘‘EH$ µJ¡a-à{V`moJr gÝVwbZ AXjVmnyU© hmoVm h¡ &’’ Cn ẁº$ 

aoIm{MÌ H$s ghm`Vm go Bg H$WZ H$s ì`m»`m  

H$s{OE & 12 

11. {XE JE {ZåZ{b{IV Cn`mo{JVm \$bZ, Ohm± {H$ Cn ŵº$$ 

àË`oH$ dñVw Ho$ {bE KQ>Vr hþB© (õmg_mZ) gr_mÝV 

Cn`mo{JVm H$m {Z`_ bmJy hmoVm h¡ & A dñVw H$m {H$VZm 

Cn^moJ {H$`m OmEJm, `{X `h dñVw _wâV CnbãY hmoVr  

h¡ ? 12 

U = 96A + 35B – 0·8A2 – 0·3B2 

12. _mZ br{OE {H$gr CËnmX H$m _m±J dH«$ Bg àH$ma {X`m J`m 

h¡ : 

 Qd = 300 – 2P + 4M 

 Ohm± M = Am¡gV Am` {OgH$mo hOma én`m| _| _mnm OmVm  

h¡ &  dñVw H$m Amny{V© dH«$ Bg àH$ma {X`m J`m h¡ : 

 Qs = 3P – 50 

 `{X M = 25 h¡, Vmo ~mµOma {ZH$mgr H$s_V VWm Cg CËnmX 

H$s _mÌm kmV H$s{OE & 12 
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IÊS> J 

Bg IÊS> go g^r àíZm| Ho$ CÎma Xr{OE & àË òH$ àíZ Ho$ 6 A§H$ 
h¢ & 26=12 

13. {ZåZ{b{IV _| go {H$Ýht Xmo  H$s ì`m»`m H$s{OE : 23=6 

(H$) VH$ZrH$s gr_mÝV à{VñWmnZ Xa (MRTS) 

(I) µJ¡a-AgVV dñVw 

(J) àm{`H$Vm {dVaU 

(K) Ama{jV H$s_V (Reservation Price) 

14. {ZåZ{b{IV _| go {H$Ýht Xmo  Ho$ ~rM AÝVa ñnï>  

H$s{OE : 23=6 

(H$) g~b àmW{_H$Vm Ed§ {Z~©b àmW{_H$Vm 

(I) j{VnyaH$ Ed§ g_mZ n[adV©Z (Compensating and 

Equivalent Variation) 

(J) g_KmVr` CËnmXZ \$bZ Ed§ g_ñW¡{V>H$ CËnmXZ 

\$bZ 

(K) gr_mÝV AmJ_ \$bZ Ed§ gr_mÝV bmJV \$bZ 


